Quiz 3 (A)
Name:
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and the plane.
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Solution: 
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Using:   2==4.9 m/s (since =0)
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Solution: 
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Along the x-axis: cos0  cos0

Along the y-axis: sin

Adding the two equations: 
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Solution:
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Maximum speed corresponds to Max frictio

n force: 

This force of friction produces the cent

repital acceleration
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Solution:
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Maximum speed corresponds to Max frictio

n force: 

This force of friction produces the cent

repital acceleration
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Solution:
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Maximum speed corresponds to Max frictio

n force: 

This force of friction produces the cent

repital acceleration

  0.159.820017.1/
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Solution:

Constant velocity means zero acceleration. 
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Along the horizontal: cos0  cos=0 

Along the vertical: sin

Adding the two equations:

cossin0  cossin
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